
790 DUKE, black - CKD w/o engine 2021 <2021><CN><F9687U6>
IGNITION SYSTEM

56365

Pos Part Number Description Additional Text Quantity

1 C90039105000 rotor cpl. 1.00

2 60339003000 special screw M12x1.5 WS15 1.00

3 C0025060306S Screw M6x30 3.00

4 C90039004000 Stator 1.00

5 C90039040020 generator line bracket 1.00

6 C90030024000 Dowel 2.00

7 C90030040000 ignition cover gasket 1.00



8 C9003010200041 Generator Cover KTMR2R only for CN 1.00

8 C9003020200041 Generator Cover 1.00

9 C07700240251 o-ring 24.00x2.50 Viton 1.00

10 C90030094000 threaded plug M24x1.5 PA 6.6 1.00

11 C0025060356 Screw M6x35 2.00

12 C0025060306 Screw M6x30 6.00

13 C90039034000 pulse generator KOKUSAN 4K3-A/ 1.00

14 C0025050166S Screw M5x16 2.00

15 C0025060166 Screw M6x16 2.00

16 C90039006100 Stick coil 2.00

17 77839093000 spark plug 2.00

18 0081050141 EJOT PT screw K50x14 2.00

19 C90011038000 retaining bracket SLS cpl. 1.00


